REMR B4 AAQRUHER

(Fr25%78181B%#ER) B A, tHE
B 4 B = 5 = ™

X4EHRXEE 6,914 3,377 3,937 2,618
KiFMFE 37 7 30 31
KE/\AR 130 72 58 51
KIF =Mt 22 10 12 8
XEF/ER 26 13 13 9
KiFdas 82 39 43 27
KEAEA 71 30 41 25
KE/ VDR 108 56 52 42
XEEE 6 3 3 1
KXEXEH 24 16 8 5
XEFRH 101 47 54 36
KEFM/ K 5 3 2 2
KEMH 1 1 0 1
KEFIR 2 2 0 2
KiEth /i 5 3 2 2
KiFik/ K 3 1 2 1
pNES 17 6 11 6
XENEF 42 19 23 16
XEE/IBA 1 1 0 1
XERO 13 5 8 4
PN EATED] 251 116 135 95
XEHH 1 1 0 1
KEHE 2 1 1 1
KEER 8 5 3 2
KE=VEE 32 20 12 11
XE=H 160 75 85 59
XEEH 3 2 1 1
KERFH 34 16 18 13
XEHLE 173 82 91 78
PN EE A 31 12 19 13
KEw/ A 27 16 11 17
KEFHE /2 2 2 0 2
KEES 12 6 6 4
XEER 1,953 979 974 656
KERR 426 211 215 154
KEFEF/A 640 318 322 325
KEEZHL 58 21 37 30
KEFELS 616 288 328 218
KE/N 322 163 159 140
XEEZR 484 229 255 146
XERIE 579 286 293 234
K{E K 401 191 210 145
XEFEFH 3 3 0 3




